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(d)zein/PLA(25/75)  (e)zein/PLA(0/100)

Stress /MPa

a:zein/PLA=100:0
b:zein/PLA=75:25

(b) R (O T % | f irein/PLAS50:50

d:zein/PLA=25:75

=0,010mL/min =(0,012mL/min e:zein/PLA=0:100

2. A E BT ZRzein-PLA E &2 KA LI TEME "0 20 40 60 80 100 120 140 160 180 200 220

Strain /%
3. JLIE 5 T zein/PLA R & 9K 4 45 iR B B 77 - A% i 2% ]

Zie: 1JRDNEE BT 2 BRI | zein/PLAR S90OKENYE, JFRTIEaE | ROKEE i 81 F 49 K21 4E 1]

J15 e

2. &% ThiE It [H] 4

KEFAER) 7] A VERE s

T LT 22 B 2% | zein-PLA B Z5 M K41 4E,  FF DT | BOKEE I 82 H N






